DPP

DAILY PRACTICE PROBLEMS

CLASS : XIIth SUBJECT : MATHS
DATE : DPP NO.: 9

Topic :-DIFFERENTITATION

1 — sinx 4 +/1 + sinx dy.
1. Ify= Tsinr—iTsnw then-is equal to

1 x 1 x 1 x
a) scosec’; b)5cosec; ¢) ycosec’x d) cosec?;

2. Thevalue of% atx = g where y is given by y = x*"* + \/x,is

1 1 1
)1+ 752 b)1 ) 7zm d)1-77
3at? 3at dy.
3. Ify=7 _T_tt3,x =1, thend—ils equal to
t(2—1t3) t(2+t9) t(2—1t% t(2+t9
a) (1 —2t3) b) (1 —2t3) c) 1+ 2t3) d) 1+ 2t
4. Ify=log,x + log,a+ log,x + log, a, then %is equal to
a) )—1( +xloga b)m% A ]Oz,a ) loga +xloga d) None of these
5. If8f(x) +6f(2) = x + 5and y = x*f (x), then the value of Zatx=—1,is
1 1 1
a) 0 b)ﬂ C) —1z d);
_ 1—x 04y .
6. Ify= ,1_-0—x' then (1 —x )dx +y is equal to
a)l b) —1 c)2 d)0
7. Ifx¥ = 20, thenz—yis equal to
X
2(1 + logx) 1+ logx 2 2(1 —logx)
a) (2 + logx)? b) (2 + logx)? c) 2+logx ) (2 + logx)?
8. Ifx=a(l+ cosB),y=a(f +sinb), then%at 6= gis
X
1 1
a) — b)7 c) —1 d) —2
2
9. Ify?=ax®+bx + c, where a,b,c are constants, then y3%is equal to
a) a constant b)a function of x
c) a function of y d) a function of x and y both
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1 1 1 . dy.
10. Ify=1+- + %+ 5 +...0co with |x| > 1, then—is
x x x dx

2 2

[N}

a) 7 b) x%y? 0% d)-%
11 I f(ey) = 2(x = y)* —x* — y* then [(frafyy — f2) g0 s
a) 32 b)16 )0 d) —1

12. Ify = |tan™! - L ttan'— 4+ tanl—— .+ upto n terms], then y'(0)is
X

+ x? x> +3x+3 x?+5x+7
equal to
-1 —n? n?
a) %+ 1) b) 2+ 1) c) 1D d) None of these

13. Given that %f(x) = f'(x). The relationship f'(a + b) = f'(a) + f'(b) is valid, if f(x) is equal to

a) x b) x? o) x> d)x*

14. nth derivative of (x + 1)" is equal to
a)(n—1)! b)(n+ 1)! c)n! d)n[(n+ D] !

15. Ify = 283271 then% is equal to
a) (log2)(log3) b) (log 18) c) (log 182)y? d) (log18)y

1
- .1 d E
16. Ify = x% + #? +————, then —dzls equal to
e S

x“ + ..o

ny xy xy 2x
a)zy_xz b) e 9 d)2+§
X + —X d .
17. Ify = :X — :_X, thend—ils equal to
a) sech?x b) cosech®x c) —sech?x d) — cosech®x

18. If f(x) = |x — 2]andg(x) = f(f (x)), then for x > 20, g'(x) is equal to
a) —1 b)0 1 d)2

19. If5£(x) +3f(1) =x + 2and y = x f (%), then(%) _ is equal to
a) 14 b)7/8 1 d) None of these

20. The differential coefficient of f(logx),where f(x) =logx is

X

a) logx b) (x IOg x)_l C)

logx

d) None of these

X
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